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PART - 1: MENTAL ABILITY TEST
(For Student of Class X)
Time : 120 Minutes Max. Marks : 100
INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the question booklet.

1. This booklet contains questions on Mental Ability
Test,

2. There are 100 questions in this test. All are
compulsory.

3. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet.

4. Since the ime allotted for this Question Paper is
very limited, you should make the best use of it by
not spending too much time on any one question.

5. Ifyou donotknow the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the left out questions,
which in the first instance and attempt them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet/ loose paper.

7. Every correct answer will be awarded one Mark.

8. Handover only the OMR Answer Sheet to the

invigilator after the completion of the test. Question
Booklets may be retained by the candidate.

9. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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MENTAL ABILITY TEST / wensdlpsn Csirey

Direction : (Question Numbers 1 to 7)

In each series, the alphanumerals are following
certain rule or pattern. Choose the answer from
the given four alternatives.

1. 5,12,26,47,75 2
(1) 99 (2) 110
(3) 105 4) 93

2. 0,2,612,20, 7
(1) 24 @ 26
(3) 28 ) 30

3. 510, 2 50,122,170
(1 26 2)
(3) 49 (4)

[

a2
o~

4. 2,2,54,10,817,14, 2 22
(1) 24 () 25
(3) 26 4 30

5. 256,10,128,40, 7 160,32
(1) 64 (2) 30
(3) 58 (4) 54

6. —5A, OF, —3C, 20Z, , 19Y
1 26 @ 1G
() 2H @ 2

7.  PRT, QTW, _,SXC, TZF
(1) RWZ (2) RVY
(3) RUY 4) RVZ

aufipen : (eflerm sTeimr 1 (& 7 eusni)
Spssrgmid Am_iseflsd o srer srerGlomWs
sibe g @IUOCL ald / gmuolifdrg
suflsneriu@ & el Herarg). QemBébs i Giersr
mreiTE W eflensefls sfumsr aflamaows
Gaiis@s B ea.
1. 512,26,47,75 1

(1) 99 @ 110

(3) 105 ) 93

2 0,%6,12,20, T
(1) 24 (2) 26
(3) 28 (4 30

3. 510, 2 50,122,170
(26 (2) 37
(3) 49 4 27

4. 2,2,5410,8,17. 14, _ 2 .22
(1 24 @ 25
(3) 26 (4) 30

5. 256,10, 128,40, 7 160,32

(1) 64 (2) 50
(3) 58 (4) 54

6. —3A,0F, —3C, 20Z __ ,19Y
(1) 2G (2) 1G
(3) 2H (4) 21

7. PRT, QTW, ___, SXC, TZF
(1) RWZ (2) RVY
@3) RUY (4) RVZ
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Direction : (Question Numbers 8§ to 12)
In each of the following series, one term is
wrong. Identify the wrong term,

8. 0,86, 24,64, 120, 210
1 120 2) 64
(3) 210 @) 24

9. 73,58, 94, 69, 116, 80, 136, 91, 157
(1) 58 (2) 69
() 116 @) 80

10. 1,3,5,9 18, 33, 65, 129
(1) 18 (2) 9
(3) 65 4) 33

11. AB, EG, IL, MP, QV, UA

(1) I (2) QV
(3) MP 4) UA

12. ZXST.RPNL
M R @ X @) T @ S

Direction : (Question Numbers 13 and 14)
Read the questions and choose the proper

answer.

13. "Angle’ is related to ‘Radian’ in the same
way as ‘Force’ is related to :

(1) Newton (2) Pascal
(3)  Joule (4) Watt

14, ‘Book’ is related to ‘Page’ then ‘Flower’ is

related to :
(1) Essence (2) Fragrance
(3) Petal (4) Garland

auflpsnm :  (aflerm eTemr 8 (pS6l 12 sausnr)
Slpsenamin esublsumm Glsm_fanb, e 2 miy
SEUNTETT ). Seumrenr 2 mi'uflsmears sevon_liueyLh.
8. 0,6, 24, 64,120, 210

1 120 () 64

(3) 210 (4) 24

9. 73,58, 94, 69, 116, 80, 136, 91, 157
(1) 58 2) 69
(3) 116 4) 80

10. 1,3,5,9, 18, 33, 65, 129
(1) 18 2) 9
(3) 65 (4) 33

11. AB, EG, IL, MP, QV, UA
(1 I @ Qv
(3) MP 4) UA

12 LXSTRENT
M R @ X @3 T @ S

auflpem @ (aflarr sreir 13 w@md 14)
alleorm&sensrl LG sflwrer eflmismud
GaimGls{HHan.

13, ‘Angle’ ererug ‘Radian’ 2 Léw
GlgmfysmLwg sarflsy, ‘Force' sTairug)

srEEL T GsTLrumLiwg ?

(1) Newton (2) Pascal
(3) Joule (4) Watt
14. ‘Book’ ererug) ‘Page’ o L&ir

Qam iy g erefls  Flower g
stesmLsir Gl jsmi g ?
(1)  Essence (2)

(3) Petal

Fragrance
(4) Garland



Direction : (Question Numbers 15 and 16)

First two terms are connected by some
relationship. The same relationship is applicable
for the next pair. Identify the suitable pair.

15. Paddy : Field :: 2 i 7

(1) _Steel, Mine (2)
(3) Steel, Factory  (4)

Steel, Ore

Steel, Iron

16.. 7 2 77 i Z i P
m 312 (2) 5,30
3 2,5 (4) 5,35

Direction : (Question Numbers 17 to 19)

First pair is connected by some relationship. The
same relationship is applicable for the next pair.

[dentify the missing term in the second pair.

17. throw :collect:: push: ?
(1) pull (2) door
(3) window (4)  knock
18. apparel :shirt::  ?  : necklace

(1) gold (2)
(3) silver (4) ring

jewellery

19. AB:ZY::EF: 2
(1) UV () VW
@) WV (4) VU

[CODE[ X 1 [20]

sutflipenm : (eflerm srsoor 15 dmib 16)
Qer@ssiuRermenausafly  Wae @
2 mlyssT G aumsufls AsTryuBEsiu’
Glsmenar. 2Gg Ggm_mils yminbs G5 GG
2 mIlLSmeTs CaHihGlsHSsmnLD.

15. Paddy:Field :: _2 :_ 2

(1) Steel, Mine (2) Steel, Ore

(3) Steel, Factory  (4) Steel, Iron
16. 7« TF i 2 —

1 3,12 @) 5,30

B) 2,5 @) 5,35

suflipsmm (aflsorm srevor 17 (pgsd 19 susmiy)
Glar@Easiu” Hararansusefla (pseb Glsmemr g
sumaiila Gar fyu@ssiu’ Garmg. 96
Ggrimisn oymukss 2055 @ meoruisr
silpuC L o miiflsmens Gaimh0ls([HesanL0n.
17. throw:collect:: push: ?

(1) pull (2) door

(3) window (4) knock

18. apparel :shirt:: 2

: necklace
(1) gold (2)  jewellery
(3) silver (4) ring
19. AB:ZY::EF;_2
(1 uv ’ 2) VW
(3) WV 4) VU
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Direction : (Question Number 20)
Choose the set of numbers from the four
alternatives which is similar to the given set.

20. (7,14, 23)
1 (18, 25, 32) (2)
3 (6 11,19) (4)

(27, 36, 45)
(18, 25, 34)

Direction : (Question Numbers 21 to 27)
Read the information given in the questions and
answer the following,

21. In the following letter series, some of the
letters are missing which are given in the
alternatives in order. Choose the correct
alternative.

abb__baa_a_ bab_ ab
(1) ceee (2) baab
(3) abab (4) abba

22. Choose the group of letters which is
different from others.
(1) BCE 2) KM
(3) PQS (4) ZAC

23. 1If, in a certain code language ‘FRUIT" is
coded as ‘ZLOCN’ then ‘FLOWER’ is
coded as :

(1) ZFIQYM (2)
(3) ZFIQYL 4

AFIQYM
AFIQYL

24, [f C=6, BE=14, L=24 and BAG=20
then ‘LUGGAGE' is :
1 120 @) 60
(@) 240 @) 44

auflipsnm : (aflerm eretor 20)
spseragyn  CsTGHe6E G
Gsr@uiimear QsTHISSIUGSTT HI6TE
wrin sl sefielmhal CHihEsH&saLD.
20. (7,14, 23)
1) (18,25, 32) 2
(3) (5, 11, 19) (4)

(27, 36, 45)
(18, 25, 34)

autflpeom : ( eflerm sTeger 21 (g 27 ausnn)

Qar@&ssiul @ seansmarl Ul &gl

Cal siul Gt silamésEmde el wefls

L.

21. &Gy Qen@&aiu Hter rss) Asm._ b
dn  ssgsest Ul GlerTa .
aflHul L sTgd@isest wrhn sl e
aufleaurs sughsiu Bsrerer. aflumss
iy aflsmismud CsikblsH&smn .
abb__baa_a_ bab_ab
(1) cccc (2) baab
(3) abab (4) abba

22, wppaupdlelnis CaumulL mYsss
Gumas CoiEesEGsa .

(1) BCE 2) KM
(3) PQS @) ZAC

23. 'FRUIT' ereérugl  ‘ZLOCN' sremr
@héaUGUDpTe, FLOWER'  ersirug)
seuarn) @MSaUGELmID ?
(1) ZFIQYM (2) AFIQYM
(3) ZFIQYL (4) AFIQYL

24. C=6, BE=14, L=24 upgi BAG=20
srenflsy 'LUGGAGE' steirLig :
1 120 (2) 60
(3) 240 4 44



25.

26.

27.

Direction : (Question Number 28)

Arrange the given words in a meaningful

sequence and choose the most appropriate

sequence.
28. (a) cow (by curd 28.
(c) milk (d) butter

In a code language : 25.

(i)  ‘imbe pee’ means ‘petals are blue’
(ii) ‘sik hee’ means ‘red flowers’

(iii) ‘pee mit hee’ means ‘flowers are
fragrant’.

Then, ‘fragrant are red flowers” is :
(1) peeim mit hee

(2)* im be sik mit

(3) besik pee mit

(4) sik hee pee mit

Ifa+b=51;x+y=5 thenp—qis: 26.
(1) 1 @) =1

3) 3 (4) 20

A mountain has always ’ 27.
(1) animals (2) trees

(3) Theight (4) birds

M (@) (@) () ()
(2)  (e). (d), (b). (a)
(3) (@), (b), (c) (d)
(4) (@) (). () (d)

[CODE] X | T [20]

s aflg smaems Glomfiuflsrig :
(i)  ‘im be pee’ eTaiTUG) ‘petals are blue’

(i) ‘sik hee’ eretruigy) ‘red flowers’

(iii) ‘pee mit hee" sTeiTug) ‘flowers are
fragrant’ sTsoflsd

‘fragrant are red flowers’ ereimug) :

(1) peeim mit hee

(2) im be sik mit

(3)  besik pee mit

(4) sik hee pee mit

a+b=51;x+y=>5 seoflsd, p — q sTadTLIEy :
m 1 @ -1
(3) 3 @ 20

wemeuiles  rOGIUTQGID
BméEio.

(1) afoi@ssr  (2) s
(3) =2.umb (4)  UmemsLSET

aufigpsmm : (aflsorm eretor 28)
Qar@assiu Ter arTemssmer 556
St gypOuemLile  suflmelu@ssl, eflwumer
suflmasmiug GaihGla @& smniD.

(a) cow (b) curd
() milk (d) butter
(1) (a) (d), (c), (b)

(2 (c) (d), (b). (a)

(3)  (a), (b), (). (d)

(4)  (a), (). (b). (d)
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Direction : (Question Number 29)
Choose the best reaction from the alternatives
for the given situation.

29. You are cycling on the narrow crowded
street and suddenly you see a one rupee
coin on the pavement. What action will
vou take ?

(1) Take the coin and give it to a begger.

(2) Take the coin and pocket it yourself.

(3) Leave it where it is.
(4) Take the coin and deposit in the
nearest police station.

Direction : (Question Number 30)

Arrange the given words in dictionary
alphabetical order and choose the word which
comes in the middle.

30. (a) credential (b) creed
(c) colour (d) credible
(e) create
(M (a 2 (e
(3) () (4) (d)

Direction : (Question Numbers 31 to 40)
Read the instructions and informations given in
the questions, and choose the best alternative.

31. Choose the word which can’t be
made from the letters of the word

CHOREOGRAPHY.
(1) GRAPH

(2) GEOGRAPHY
(3) CORE

(4) ROGUE

auflupsnm : (afleorm eveior 29)
dlsreupi  eheruumsaile  dhH&sILUGED
Splurer BLagSmaamius CaikosHiéssan.
29. £ gf Guéu Apséspurar Qe
ihiglaustong g1 GIoGUIE) , SiaGlirsr 1 mumi
Grswnun gstenm auflullsh  &medrdlmmis.
SJC1GILIT (L) 6TERTEHT [EL 6Ll E6mEs 6T(HI LML ?
(1) provwsms OS5 Nemas
amiid gjsfl&a) afl[o Gaustr.
(2) praovusmg e@SHE sTaTEMLIL
slenLll souullsh smeus sl s G amsr
Geetr,
- (B) oibs B SHGNGW el GafiBGeusir.
(4 promusms TGS SinSdlnseEh

Sieusd Bemeutlig e UL CLT.

sulflipenm : (aflewrm eresar 30)

Garhesiu’ Gamsr sumidmssmen o sl
wopulls aflmsiu@ss, rEala aumb
surgamgeniug CaimelsHiEsann.

30. (a) credential (b) creed
()  colour (d) credible
(e) create
(1 (a 2 (o)
(3) () 4 @

anflupsmp : ( aflern sremr 31 (s 40 susnr )
Car@ssiul@star sauhsmal Ugssl,
e wniigy efleoL_ o CaiOSGESRL
31. CHOREOGRAPHY stsitn sumigemgusles
o 6TET STPSSSHETOmEE o (huTds
(PpTs Gz g CaibOshibsa

(1) GRAPH
(2) GEOGRAPHY
(3) CORE

(4) ROGUE




32

33.

35.

(3) 265134 (4)

Select the combination of numbers so that
the letters arranged accordingly will form
a meaningful word.

FlLSp BAaNE 0
72 -2 4% s

(1) 265143 (2) 651432
261543

A meaningful word starting with ‘A’ and
the other four letters are from the first,
second, fourth and fifth letters of the word
‘CONTRACT’. The last letter of the
meaningful word is :

(1 o (2 T
3) R 4y A

The number of P's in the following series
which are immediately followed by B as
well as immediately preceded by Z is :

PMBZPNPPBZPBPZBPPZPBPZPB
(1y 5 (2) o
3) 4 ) 3

If the alphabet series is written in the
reverse order, which letter will be sixth to
the left of eighteenth letter from the
right ?

(mn c @ X

(3) B @) Y

32.

33.

34,

35,

([CODE[ X [ T [20]

SP@IOA Qe srarsamar wrmsl
2APLOUSST e, S oS psier
UM SMSO 2 HANGSD srsvoransifisr
QarE L snerd srevrs.

I P E c L O

1 2 3 4 5 6

(1) 265143 (2) 651432

(3) 265134 (4) 261543

A ST TSNS (s mssTEa,
ABss  pring  myssisadt
‘CONTRACT" srsirm suti &smauflsdl i),
YomGu e, @it s, (b6 ETRS]
LOQD  WESTUS  TEGIGseT
TOEsIU L g srafled, gyig 2 & (Lpstam
Ui Gemgilsir seni_ 4l erugse; :
(1 o @ T
@) R (4) A

PMBZPNPPBZPBPZBPPZPBPZPB

s16iT Glgm_fleh P eyenay Z-66 oiBidginn
B-6& erengrsah sHemer (pemm
supbgieengy ?

m s @ 6

(3) 4 @ 3

sueblmhg @ iones STUEBIL L oy Fickle
TgIesI6), g LmdHeasig 18 b
B_580 o siter srfg_gﬁ_él;b@ @_m.m:m- i &
SHDTEUBITE ST SIETET TSI :

(1) C (2 X

(3) B 4) Y
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36.

37.

38.

39.

Three of the following four are alike in a
certain way. Which one of them does not
belong to that category ?

Carrot, Sweet potato, Beetroot, Potato
(1) Potato (2) Beetroot
(3) Carrot (4) Sweet potato
After walking 10 kms, a person turned
right and covered a distance of 5 kms.
Then, turned left and covered a distance
of 20 kms. In the end, the person was
moving towards south. In which direction
did the person start his journey ?

East
South

(1) West @)
(3) North (4)

A group of 150000 persons consists of
captains and soldiers. There is one captain
for every 15 soldiers. The number of
captains in the group is :

(1) 10000 )
(3) 9275 (4)

9375
9475

In an examination, a student scores
3 marks for every correct answer and loses
one mark for every wrong answer. If she
attempts all the 120 questions and secures
80 marks, the number of questions she
attempted wrongly, is :

(1 70 (2) 50
(3) 60 4) 80

36.

37.

38.

39.

10

Snsasrgmid  ETATHS epsTm B
ausmsiile Gy wrSiflursrg. syssmL s
QrLmisoars grmns Gsiktlshs
S|,

Carrot, Sweet potato, Beetroot, Potato
(1) Potato (2) Beetroot

(3) Carrot (4) Sweet potato

@ waflst 10 &b BLie Ong yaufsn
suelDD GG 5 S STTGHMS GLHEHT.
Sine gui @Liyon Smndl 20 &l
aMsmss sLbe. Qnln, s
wefllst Gshes Hmemu GCrréds
Qestrpmi sTesflsd, Seurt aES Slewme Crrdd)

LW Semss Ggm_rdsmmi ?
(1) Gupg (2) fysg
(3) aé® ¢ GCope

150000 Gui Gsrer. @ el

Gl  LOHmID UL eSTTSsT
Bopgai. opss Guelle 15
usnLafiiaEnd@ @ Galis o srammi.
srafled, oE&Ss  Guells 2 st
GasliLsiraerflstr stegmsvell&emas ©

(1) 10000 @ 9375

@) 9275 (4) 9475

80 Gpialed @@ wrmreall QG
aflurer aflmLs@n 3 w06 ssT
QumBmri whHmh  eeuGarm Seumnrsr
allsmL_&@th 1 wdiGlusrsneooT @lsSlpm.
SeusT Zismerggl 120 sileormsss e @ L
aflen_waflée wpwsim, 80 Wbl
Quibdlmi@m sreufley, gjibiomsmrel] geumns:
aflemL_ w68 & flsorm s Serflstr eTevor 6onf I ma,
1) 70 2) 50

3) 60 ) 80




40. Two statements (I) and (1) are followed
by conclusions (1) and (2). Read the
statements and conclusions and give the

correct answer,

Statements :
M
(IT)  All sweets are tube lights.

Some fans are sweets.

Conclusions :

(1)  Some fans are tube lights.
(2)  Some tube lights are fans.
(1)  Either conclusions follow
(2)  Only conclusion (1) follows

(3)
4)

Only conclusion (2) follows

Neither conclusion (1) nor (2) follows

Direction : (Question Numbers 41 to 46)

The given operators convey new meanings.
Read the meanings/instructions and find the
answer.

. i

If “X* means ‘+’, ‘+’ means ‘=", ‘-
means ‘%" and '+’ means ‘' =’ then :

41.

Bx7-8+40+2=

(1) 48 (2) 68
2
@ 73 “ 7

11

|CODE[ X [T 20

40, strausi sflearmailed @lystor (5 s hmigssir (1),
(1) whmid @rsw® 1 ayser (1), (2)
GlarlésUu [BisTamer. & s hmitn

(Lply 6y SHEmETL Ulg &8 aflwmsn

aflemLwisflé seuh,

sy :

() dov Blsiralid|flest @efliyser,

(1) oymernss: Gafliieend @pmi
afleTT (& 6T,

L

(1) & L) 607 6231 ] 77 @Lami

- afleTT & g et

(2) &le @Yumi  eflerd @ s
lstrefl e,

(1) Gl wgasEsh sflursrsns

2 wpeay (1) ' Gud &l

(3)
4

ey (2) ol Gud &
B YyausEnd gaiprsrmel

suflpsnm : (eflerm sTeor 41 (WYs6d 46)
QanOseaiu Gsrer Gawsiiaenée Useflstonear
GlawsLir@less GlamBiesiu Rsrersor. 21FGleLsh
ur@sst wpmih efldlsaflsr oy lum s
Serayid eflemésense afmLwaidsann.
41, "X eTetTug) “+' stemeyld. -+ eTedTug)
STETEULD, ‘' TeOTLIG] ' X sTewTaLLD, LommiLD

“+7 eerugy ‘= eremeyd QumeTuGID
sT6aflsb :
Bx7-8+40+2=
(1) 48 2) 68
e
B 73 4) 7
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42,

43.

44.

45.

46,

If =" means '+ ¢
means ‘—"and ’ x’ means ' +" then which

of the following is correct ?

(1) 52+4+5x8-2=36
(2) 43x7+5+4-8=25
(3) 36x4-12+5+3=420
(4) 36-12%6+3+4=60

The following relation became incorrect 43.

due to the interchange of two signs. Which
of the two signs when interchanged makes
the relation correct ?
7+8x2-164+2=15
(1) + and — (2)
(3) + and x (4)

4+ and =
+ and X

If the interchanges are made in signs and 44,

numbers, which of the following would
be correct ?

Interchanges in signs : + and X
Interchanges in numbers  : 4 and 5

(1) 5x4+20=40

(2) 4x5+20-10=95

(3) 5x4+20=104

(4) 5x4+20=75

If 547 =74 and 2+8 =68, then 748 is : 45.
(1) 56 2 113

(3) 103 (4) 123

If 17+22=12 and 26+19=18, then 46.

(10+20) + (12 +2) is :
(1) 44 (2) 16
(3) 24 (4) 8

12

'+  means ‘%', '+ 42.

f—" aramugy) -+ eTesTeyD, “+ ' gremTLG) ‘X
STEOTEYLD, = GTEOTUS| ‘—  eTeweyth, * %’
eTeTLg) 4 eremaydh  GlumEmsTLGLD sTauflsb,
dlsreugmeuemeuhmis sra a1 2

(1) 52+4+5x8-2=36

(2) 43x7+5+4-8=25

(3) 36x4-12+5+3=420

(4) 36-12x6+3+4=60

e (5) @t OMDOILCL e, Geumirsr

GQgm iy gou’ Gersrs. sHe  @rsri

@ilsmen wrhblsmmss eflursr Qgmiy
SUGin?

7+8x2-16+2=15

(1)  + opgd - (2)

(3) + wopgid x  (4)

+ hmid =
+ Wpmih x

Endarmmumasain @BuiGlesT whHmih
sTenITERsmET (@10 tommpflennmsd, 617 Gy
aflumsog) ? ‘

orHoiu Gsusttmigwl @BISET : + WwHoID *
wirdmiLL. Geusmongu sreorass : 4 WHmh 5
(1) 5x4+20=40

() 4x5+20-10=095

(3) 5x4420=104

(4) 5x4+20=75

557 =74 o 248 =068 eraufley, 7+8 =
1) 56 @ 113
(3) 103 (4) 123

17+22=12 wmmid 26 +19=18 sefls,
(10+20) +(12+2) =

(1) 44 (2) 16

(3) 24 (4) 8




Direction : (Question Numbers 47 to 54)

Read the questions and choose the appropriate

answer,

47.

48,

49.

50.

Amirror is placed in front of a clock. The
clock shows the time 5 hours 50 minutes,
The reflection in the mirror is

(1) 6 hours 10 min.
(2) 5 hours 10 min.
(3) 6 hours 50 min,
(4) 5 hours 50 min,

The angle between the hour hand and
minute hand when the time is 6 hours
45 minutes, is -

(1) 60° (2)
(3) 65° (4)

62.5°
67.5°

Raj introduced a girl as the daughter of
the daughter of his Aunt’s mother. The
girl is Raj's :

(1) daughter (2)
(3)

sister
grand daughter (4) mother

The number of combinations of two digit
numbers having 4, can be made from the
numbers 1, 2,3,4,5,6,7, 8 and 9 is :

(1) 16 2 1
(3 17 (4) 18

13
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aufipen : (el stevor 47 (a6 54 DIC T

siflenriT &Ll Lip &8 Qi Setomsr aflemL_smiug;
Gai0amdaan.

47.

48.

49,

50.

DO Se&MTSSar W G &6y
uSSIIOENS. i SlpHTTid 5 wewf)
50 Bl gmss sl GADE  rafls,
aetoreoTiguflsd oy et sTehlGITmafiy :

(1) 6 wewfl 10 FiAl_id

(2) 5 weofl 10 B (b

(3) 6 wemfl 50 ELAlin

(4) 5 wemfl 50 Hibid

sgaTdHe 6 wamfl 45 Ml wrs
BmSeweurs) wemfl (s ooy Efl

(psitsiflig @ew i’ L Gesmrevorid :
(1) 60° (2 625°
(3) 65° (4) 67.5°

Ty et @ Gusraemr, oy
gdluilsit sybomeflsiT wes st wesT &TaIT)
2GS ST staflsh, o0 Gt
MITED 6TGITLISLI(H & :

(1) s @)
() Gusd (4)

HHIMS

i)

1.2,3, 4,5 6,7 8 unmgib 9 aLélu
srairsaflsllnig) 4-0 @@ @rnssurss
Garar® sgmear @rsn@ Blavaea
ETECTEREDST 2 (T TS &6 ?

(1 16 @ 11

(3) 17 4 18
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51.

52.

53.

The number of numbers from 1 to 200
which are divisible by 10 but not divisible
by 30, is '

(n 13 (2) 15
(3) 14 @) 20

A class of students strength 44 took an
ability test. Five of them are not qualified
the test. Out of the remaining qualified
students Sam ranked 18" from the last.
His rank from the top is :

(1 22 2) 23
@) 24 (4) 21

Which of the following statements are
true ?

(a) Zero is neither positive nor negative
(b) 1 is neither prime nor composite

(¢) The set of non-negative numbers is
different from set of positive numbers

(d) 2is a prime but not composite

(1) (a) and (b) only
) (a), (b) and () only
(3) (a), (¢) and (d) only

{(4)  All of the above

51.

52.

83.

1 (pge 200 susmmjsiten savorsssifled 10 g0
suEGUL (B, 30 o6 suEGULIT 6Tstor s erlsor
6T GUOT 60T I Em e

(1 13 (2 15
(3) 14 @) 20
44 Guit Qems @@ aGLfh Hnerls

Goiny BLSsLLGENE. 5 Gui Gargd
Gumeilssme. Wspster Caisdl Gupp
wrsmrsureafli #rn Sfl@she 18-aug
psHo B, Cudiohs s
Sino:

(1 22 @ 23
(3) 24 @ 21

Slsiraumin s ppissafiss efwrsr swbp—

smer CaiEGsbesaun ?

(a)  wspsBluuomsoren LblensiL|Losusy, EmMiLI—
L06bs0

(b) 1 SueTg UST 676U ERILNG, UG
6T6HOT GEELOSLED

(©) Gopupp earssflsr &
ihlema revmraeleir &enor(pih Glaush
Grummamsmey

(d) 2@@@@ LISHIT 6T650T, Sp6UTTED LS,
GTE00T 96060

(1) (a) wigd (b)

(2) (), (b) wOmd ()

(3) (@) (c) wpprd (d)

(4)  Guhsstm_ smem G




54. Which of the following are not true 7
(a) All the integers are rational numbers

(b)  is an irrational number

{c) A rational number need not be a
proper fraction

(d) 0 is a rational number
(1) None of the above

(2) (a)and (d) only

(3)  (a) and (b) only

(4)  All the above

Direction : (Question Numbers 55 to 58)

Find the missing character.

55.
AN

? 29
5

N

(1) 23 (2 22
(3 27 4 3
56‘ AA
(2) -348
(3) -8 @ 7

[CODE] X | 1 [20]

54, el TS Spmiser afliursame
2y60e0 ?

(a)

(b)
(©)

(d)
M
@)
()
4)

auflpsmm :

TG (LY TsioTa (EmHD il&lg Ly
§TstT S GaT

™ TeRTLG (G eSS sTever

(5 g pmm sTsvoT G Wetmsmmore:
Blmés Geusimgiw gjaifhuiflseme

0 gpemss @ el pm) sTetor
Gomestor_ sTgiafldeme

(a) b (d) w @D

(a) ohmud (b) C Gd

Guphssom_ gjsmeTHEin

(efleorm erevor 55 s 58 eusmy)

aflEILLL sTamTemenTE: EevoTL s,

55.

&)
(3)

?AZ?’
KX
"/

23 2 22
27 @ 3

AN

DY

3
15

() -348
-8 @ 7
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57. 1
10 5 b 4 9 5
2 11 7 5 7 3
1
1) 86 @ 73
@) 33 4) 104
58.
3C 27D 9E
71 84K | 12M
5A ? 13G
(1) 65D 2) 65G
(3) 35H (4) 65B

Direction : (Question Numbers 59 to 61)
Select from the given diagrams (1), (2), (3) or
(4), the one that illustrates the relationship
among the three classes.

59. Engineers, Agricultural Officers,
Professionals
(1)
@
o @
@ O

16

57. 7 12 1
10, 5 6 1 9 5
2 ' :n :: l :5 7: i :3
9 8 1
(1) 86 73

(¢4
@) 33 4) 104
58.
3c | 27p | 9E
71 g4k | 12M
5A ? 13G
(1) 65D (2) 65G
(3) 35H (4) 658

anfipenm : ( efierm arar 59 WPH 61 enr)
Rar@ssiulL  Qsrelipe Gmuss
uLtiussmer (1), (2), (3) Spbeog (4) Gepitey Gela.

59. GurflursTissT, GousTretor Qysiaieiess,

1

@

3 @

4




60.

61.

Diagrams, triangles, polygons

O
O O

Boys, girls, women

o O OO

)

17
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60. LRI, (LPHCHTEoTRISET, LEUGEHTEmimsT

61.

@)
L e

Appeutasr, Hpublser, QuetTast
o O OO
@ QD

.®c

2
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Direction : (Question Numbers 62 and 63) sufigpeom : (sfleorm eTeer 62 wHmid 63)

Select from the given diagrams (a), (b), () or (d) QarG&asiu Gsrsr u_hiseafsimhs (2), (b), ()
that one illustrates the relationship among given Seg (d) afle 62 ohHi 63— iU Heiar
classes. GsmEIHE Gmubs UL GHmen Csin Geis.

@ D @ @
v OO O o OO O
@ QO @ QD)

62. Haryana, Punjab, Chandigarh 62.  amflurs, Lgsaml, setongsi
1 ® @ (9 (1 ® @ (©
3) (@ @ (d) 3 (@ @ @
63. Pets, Cats, Dogs 63.  suemitiL| aNleURIGEST, LEOETTEBE, HTILIssT
1 (a) 2) @ 1 @ @ ®
@) (@ “ (@ (3) () @ ©

18



Direction : (Question Numbers 64 to 68)

In the following figure, the trapezium stands for
employed, the square stands for high salaried,
the triangle stands for IT sector, the rectangle
stands for people and the circle stands for
managerial cadre. Study and go through the
figure carefully and answer the questions.

—

64. The region which represents high salaried,
managerial cadre in [T employees is :

(1 7 (2) 4
(3) 3 (4) 8

65. The unemployed people represents the

region :
Ly 2 2 9
(3) 5 4 1

66. Low salaried Managerial Cadre, non-IT
employees represents the region :

(1) 8 (2 9
3) o6 (4) 5

[CODE] X [ 1 [20]

auflgpsny : (aflorm s 64 (1PGHR 68 ausmT)
SlsiTeugnth UL Selsd Ml BrHeSmD sTsrug) Lrss
auust Gasmsn LTTIGUITT, sgimb seaTug) 5l
atousmd QumiGaunt, p&CaTsrnd THTUS) &6
Ggmfley miusfusy sismpuile usefiyfGaur,
ClasususLh sTRTLIG) SMETSHE] ST LfmiD
RULLLD sTaTUG GusraTismerid &mMé@LD.
UL Gdlmars:  anifgl urigg  (Nemsugmn
el éasEnéeE ol wafldbaann.

64, ofle shumd Gumb GsmflsEL u

GLosuTeTTTEaT DL midu LG :
n 7 (2 4
®» 3 4) 8

65. GeusmsuuflebsumGsmi gy Ligsl :

m 2 @ 9
(3 5 @ 1

66. @phs snuard Gumin Gemflsp ub
Sjeosurs; GuommsmiasT gy midu LG :

1 8 2 9
(3 6 4 5



E
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67. The region § represents :

(1) High salaried, IT professionals

(2) Low salaried, men IT professionals

(3) Low

professionals

salaried,

(4) Managerial cadre low salaried IT

professionals

68. The regions 4, 5, 6 and 7 represent :

(1) High salaried people
(2) High salaried IT sector people

(3) High salaried managerial cadre
people
(4) Unemployed people

Direction : (Question Numbers 69 to 72)
Seven persons A, B, C,D,E, Fand G are standing
in a row left to right. “A” is standing left to ‘D’
but right to ‘C’". ‘G’ is standing right to ‘E’ and
left to “C’. ‘B’ is standing right to ‘D’ and left to
) S

Read the above information and answer the
following questions,

69. The person who is standing in the right
end of the row is :

() B @ C
(3 D (4) F

women IT

67. LGS 8 Qg rgmer aflafsSng ?
(1) ofs soumd Qupd s
@gmflsom L) osmplLiiesT
2) ©opbs sbuerd QDD gy e
gea Genilspr L asmfuiies
(3) Gopss sbusmd Qumid Gl
g Qgmildp) U emfuriaer
4) @onhs sbusTd QuUUID, &8ss
Gamflsmi Li Guoeumsisssi

68, LGP 4, 5,6 wpmih 7 yéueibiisr

20

Ol sgsmen aflafisdng ?

(1) ofe sbuemd QuoGair

(2) ofs sbustd Gumid &80
Qamflsipa u ssnfifes

(3) &ydle sbuemd Gumd GLosumeTTTTeEssT

(4) CousmsuflsbaonGemt -

afipeop (sl eremr 69 a0 72 i)
A,B,C, D, E, Fufpib G gpéu 7 6ui G flm s
susuLore sp(t; euflemauflsd Hiesirmenr. ‘A’ GTEITLIGUT
D égy @ILLoTEBRUD, ‘C G(& eusvLImEsaD HDEDTT.
‘G srerusuit ‘B & aursad ‘C &G
@ wrssyn Fhdpri. ‘B’ sravusui ‘D" &
sunursap, ‘F &@ G urseid Hndom.
CuhGHullL SSHuoT S CiLenLufled
Aereud efarmssmer( upSg Fflwmer
e CaibesHSsD.

69. suflmaufish ausgGamgufleh HibEth mu :

1 B @ ¢
@ D 4 F



70. The person who is standing in the left end

of the row is :
() A (2) F
(3) E 4 G

71. The person who is standing in the middle

of the row is :
1) A @ ¢
(3) D @ E

72.  The person standing right of G is:
1 B @ c
3 A @ F

Direction : (Question Numbers 73 to 75)
(i) There are four persons P, Q, R, S.

(i) They wear different colour caps - Red,
Green, Blue and White.
(iii) P is neither wearing White nor Green.

{iv) Q is not wearing White.

(v) S wears Red.

Based on the above information answer the

questions,

73. R wears :
(1)  White cap
(2) Green cap
(3)  Red cap

(4)  Blue cap
21
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70.  suflemeuilsh @hgsiGsmgufish b mur :

(1) A (2) F
(3) E 4) G

71, suflemaullsh el fb@io mur :

(nH A @ C
(3) D 4) E

72, G STRTUSLIG &S eueg| UGS HimLeu :
(1 B (@ C©
(@) A (4) F

aunflpeny : (afleorm sremer 73 (p@sd 75 usmn)

(i) P,QR,S ssrm mreineg; Guii @ymédlstrmsnr.

(i) oouisst feuly, uéeme, Fab why
Gleusiremsm oy Sl GleusiGoumy st soor
QgmiSisemer oyeofiEgistemee,

(ii) P sstrusui Qeusirememiyid gyswoflweilsvsmsy,
udeman aysefiuaissme.

(iv) Q erewrusui Qeusramemuliemen gsweflu—
aiflsismey.

(v) S erstrusu dleulnflemer oyswfiEgsirsm.

GCuhsremin soahsafsr 9 lusme ulld

Shssrayd slarresmseE ool smers

CaihOls M b,

73. R syemfiblmiug) :
(1) Glsusitsmer Gamind
(2) u&ema Ggmns
(3) sy Qsmius
(4)  fHov Ggmud]
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74. P wear:ﬁ:.
(1)  White cap
(2) Green cap
(3) Red cap

(4) Blue cap

75. Q) wears :
(1) White cap
(2) Green cap
{(3) Red cap

(4) Blue cap

Direction : (Question Numbers 76 to 79)

Go through the diagrams in each of the question
and choose the answer.

76. The number of triangles in the given

diagram is :
a 17 @2 11
(3) 8 4 10

22

74. P genfli@miug :
(1)  Qeusrsver Gzmins)
(2) uéene Qgrind
() euly Qs
(4) oo Qmid]

75. Q SymiEAmiuS :
(1)  Qeusiemer Ggmnd
(2) usme Qe
() ey @grod
(@) fio Qgmad

sufipsop : (aflerm sreer 76 s 79 susmi)

Nereumin eSlermdaafled 2 6ram UL s smaTL
uriigsg) el leen; CHTEOSGES L.

76. uLGHR orer  (PSGaTswrhieeflsir

6T 6TOT 6T IEREM S
1 17 @ 11
(3) 8 4) 10



77. The number of squares in the given figure
1s:

(1 18 @) 27
(3 21 @4 24

78. The number of cubes in the following figure
is:

M 6. (2 &8 (3 10 @ 9

79. The number of dots lie opposite to the face
having three dots, when the given figure
is folded to form a cube, is :

(1) 5 (2) 6 3 4 (4 3

[CODE[ X [ I |20]

77. UL &Sl _siram sglnaiseafle eretoranldemes :

(1) 18 @ 27
3) 21 4) 24

78. UL Gl 2_eem semagmrusefls stevorenfle
e :

1 6 (@ 8 () 10 (4 9

79. &6y Gar@sésiul B ULGms
SEMEGITD YEOLOLLOTE) Lolg SESTeV, eI
ysreflast  Garsr.  usS5HNHES
sTHIMILSSSH0 ysmobgisrer Usmerflaseflso

ST6UT 50T |H6mE;

=

m 5 @ &6 (3 4 @
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80,

81.

82,

Father tells his son “I was your present age
when you were born” - If the father's age
is 48 now, how old was the boy 6 years
back ?

(1 16 @ 17

(3) 18 4) 19

The water image of QPN5764 is :
(1) oanesed
() oburet
(3) oqueset

(4)  ObNeMed

The water image of the given figure is :

(1) 2 3 4

80.

81.

82,

24

gHome wasmer CHTé&d E Aimé@to Gung)
onéE 2 sraymLL SHGUTMSL alg"
and emdpmi. SHOUTE SHmsullsr
uwg) 48 srafle, 6 AIGLEASEDSE ST
Lossflstr auug) rsrsreuns BGHHGSSD ?

(1) 16 2 17

(3) 18 4) 19

QPN5764 —getr Seirsuafit (b :
(1) oan2Let
(2)  oObKRet
(3) oauelet

(4)  ObNg\ed

Qen@ssiu L UL S getorswfi Hbub:

(1) (2) @ )



84.

85.

83.

The mirror image of 259RSWZ is :

(1) swenAez<
(2) S26ASMZ
(3) S29HeMS
(4) S5RA2WS

The mirror image of given figure is :

>
| X

DK

1) 2 (3)

(4

A cube is coloured green on all six faces.
The side of the cube is 3 cm. It is cut into
smaller cubes of equal size of length 1 cm.
The number of cubes without colour on

any faces :
@ 1 @ 3
3) 4 (1) 0

25

83.

84.

85.

[CoDE X [ T[]

250RSWZ —@éi Sstoremrmg 9bLD :
(1) swenezs
(2) SR6ASMZ
(3)  S2oHMS
(4) s5efewWs

Qar@ssiuCL UL &6 5 60T GOOT 1T g
(Sibib

N
VAN

(3)

m (2) @)

8] UbsRssfgD LFME susT e
SO L G5 SAEGTHBET UGS STel
3 Q&b 2iE 1 @s.8. UGS DT EUEIT T
GHMTEE GITRSTTE Qe L OUGEmS) srels,
T B LSEHHEID ousiTaD GRS

sardasTsaTIsT T stoT6OuT 618 ©
m 1 @ 3
(3) 4 (4 0
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Direction : (Question Numbers 86 to 88)
Out of the four figures (1), (2), (3) and (4) three
are similar in some way. One figure is not like
other three. Select the unlike figure.

86. } WX XW @E
(1) @ &) )

e P EARS
m (2) ®) )

" BIBIBIS
1 @ (3) 4)

Direction : (Question Number 89)

Select the portion of the picture from the four
alternatives (1), (2), (3), (4) to complete the
following figure.

-

@)

89.

(1

26

afipop : (@Naméssr 86 oo 88 )

Qaré&siu L ULk (1), (2), (3) whmid (4) -6
eyt UL Rugst 5 GHINICL gEmulifis glr
sl ZEESITaTeT. §(h UL G
QuUTEHETS amallh 2 drrgl. Sigmean Goia)

Gsiis.

" AR 26 €
(1) ) @) )

. 87. %@ ;i ; : §<

@) 2 (3) (4)

" BRI
(1 ) G} 4

anflupsop : (aflerr 89)

Epargpih LBt fGLCL uGSullens &Gy

Qer@éaiu G (1), (2), (3). (4) S by

89. /
(1) 2) (3) 4)



Direction : (Question Number 90)

A square transparent paper with a pattern is
given. Choose amongst the four solution figures
which would look like the one when the paper
is folded at the dotted line.

X
4 &4l

(1) (2 (3) (4)

90.

Direction : (Question Numbers 91 to 95)

In each of the following questions, find the
answer figure (1), (2), (3) or (4) which would
continue the given series of four figures (A), (B),
(C) and (D).

"Bk
(A) (B) (©) (D)

(1) (2) (3) (4)

92,
K2

7 =

(A) (B) (S (D)
o

(1) @ (3) (4)

27
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aflpenm : (aflerm 90)
(1 EUlg QUSHLOLILIL 61T S L LLi SFT g 611 6TITEEIM
grst &6 Qer@s&siu’ Gerars. o&ansr
yeirsfufi ol L Gan@lsafl wip daliuiinGurs
Sharamin pravg wipn ol safls fhe
aemmiLsir Gummhgn ?

R
4 L4

n Yo b

aufiyeom : (farréser 91 S0 95 sy
(A). (B), (©), (D) ersirn LLrusmemend Glsm_ kg
TGS U Sdlemear (1), (2), (3), (4)

S Fwnndlelmis Coray Calwanbn.

91. l/i/
o VA
(A) (B) (© (D)
(1) 2 3 (4)

92.

v
/A
(A) (B) (] (D)
2| =
(1) 2 (3) (4)
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93. | 93.
0 ; o || olo
AR
(A) (B) (© )

o] o| lao || o]
| & o
(1 (2) (3) #)
94,

e L=

(A) (B) (€ (D)
awu QN l P W “ 019
(1) (2) (3) (4)

28

2z

95. 985
A8 S | I H M A

(A) (B) © (D)
od| o lao || o]
| BN &
(1) @ 3) @)

(A) (B) © (D)
) &) ®) @)
Ag | E3 ’ I H M)Tl
(A) (B) © (D)
awnw ||aN | Pn | o-9
) @ (3) (#)



Direction : (Question Numbers 96 to 98)

The pair of figures (A) and (B) are related in some
manner. In the same manner the other pair of
figures (C) and (D) are connected. Choose the
figure which replaced (D).

96.

O
o |Pln v
(A) (B) () (D)
2 10810]%
m @ & @
97.
EIEE
A ® © O
DAIADIDDIE
(1 2 (3) (4)

98. ‘

D

(A) (B) © (D)
03] (2 (3) (4)

29
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aufiyop : (Asrrédsst 96 oo 98 i)
&6y Garhésiu’ Lsmasafls 1oz @6
uLmusst (A) whmn (B) @ samsulld
Qemiyu@ssiu srsrar. 56g Ggriy
3i055 QG uLhaEmsEL (C) whyid (D)
Qurmigid. aEU L @ SHhE (D) sflumsrs
uL gdlsmer mraTE wrHm afleoL s afis mks
Gaieshsan|b.

96.

O v
?
& | Lln
(A) (B) (©) (D)
2 1818 %
D>
(1) (2) (3) 4)
97.
OS]
(A) (B) (C) (D)
’ (1) 2) (3) (4)
98,

D

(A)

&

(1)

(B)

Y

2)

© o)

—
U
—

(4)
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Direction : (Question Numbers 99 and 100)

Figure (X) is embedded in any one of the four
alternatives (1), (2), (3) or (4). Choose the figure
which contains the figure (X).

(H @ (3) (4)

100.

X)
(1) 2 (3) (#)

-000-

anfigpemm : (et 99 wHmud 100)
ULLD (X) 2460781 CeTOESILLL HI6TE Wi
e uLmisefld gerflar  UGSLTS
smuhseTag. iU sHoars Caial
Qi

99,

X)

) (&) () #
100.

ot i R S

(1) ) (3 (4)

-00o0-
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Siaysngyb LGS (LA WHE e UL goe)
FOR ROUGH USE (Not for evaluation)
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